
Follow me

Single
sliding door
single rail

ES

Kit  36905560

www.troax.com

A
rt no

: 88754639 ver. 01       P
rint no

: 201611-5603-E
N

Machine
guarding



Kit 369055602/5 www.troax.com

Kit Sliding Door 36905560

Troax sign 89200000

x2

x1

x1

x2

x4

60x40

60x40

x4
60x40

x3 x1 x1 x1

M8x28

20/30

Kit Single sliding door single rail ES 36905560

x1

x1 x1

x7 x3 x2 x1

x4 x1 x3 x2 x3

x15

x2 x2

x2 x1x1

Bag for kit 5560 88695560 Kit Bracket SMF 36700074

62 mm

3 mm 3 mm

M8x12 M8x35 M6x25 M8x35

M8 18x9x4 M8 6,4x12x1,6 M8x20

ST20

A
rt

 n
o

: 8
87

54
63

9 
ve

r. 
01

2

Ø10 17 mm 6 mm 5 mm13

1/4” (6,4 mm)

x1
M8x35



www.troax.com Kit 36905560 3/5

1

3

6

2

4

Kit Sliding Door + Kit Bracket SMF

Kit Sliding Door + Bag for kit 5620

Kit Bracket SMF

Kit Bracket SMF

Kit Sliding Door + Bag for kit 5560

M8x12

M8x12

A
rt no

: 88754639 ver. 01

5

M6x25 6,4x12x1,6

8

Kit Sliding Door + Bag for kit 5560

M8x35 M8x35M8

M8

18x9x4

7 9



Kit 36905560

11

10

4/5 www.troax.com

Bag for kit 5560

Bag for kit 5560

Kit Bracket SMF

Bag for kit 5560

Kit sliding door + Bag for kit 5560

Bag for kit 5560

A
rt

 n
o

: 8
87

54
63

9 
ve

r. 
01

12

A

B

C

D

13

12

> 3000

Bag for kit 5560

M8x35

M8x20

M8

M8

13

15

14

16

M8 M8x35

200 mm



Bag for kit 5560

Bag for kit 5560

17

www.troax.com Kit 36905560 5/5

A
rt no

: 88754639 ver. 01

M8

18

19

Bag for kit 5560

Bag for kit 5560

ST30

ST30ST20

ST20

20

24

25

26

Bag for kit 5560

Bag for kit 5560 Bag for kit 5560

Troax sign

ST20

A

B

C

M8x35

200 mm

21

22 23


